ST
V=2 A7L %

=
— E @, % sy
V2 T
Hlga—F K34912 K34913 K34914 K34915

i X TMS1182 TMS1582 TMS1882 TMS2082
IS EHAEX  AMF1182-04 AMF1582-04 AMF1882C-04 AMF1882C-04

V=27 2PEA LTy
glga—F K34916 K34917 K34918 K34919

£ X TMS1192 TMS1592 TMS1892 TMS2092
BB EHAEKX  AMF1182-04 AMF1582-04 AMF1882C-04 AMF1882C-04

* BmMTEN DRI, W Ehmitia RN e I EFZELY,
- A mO—ERICIE, FEoH Y MRTDAHDERRAHIET,

= tIHI 7?7 O UST v o






D T3EXIZDNT

HEBRmOMIGERICDONT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICICIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o Zo Eo

PR

!
)

B O3

XEREREEXIHRRRBE LT, RRICREA
DAR—LTL—FIRRTLTLWET,

2. o =], [ ]iE UFozea®kLT
BOES,

(=] v nl, MABAENTO S WD
B 2 12 0 F72 20

(] 7 v s 5 6 T
TS L7 i

3. RHEEN[ | iceoCnd b olt, il
i EEVD, IR R DD ETOT, ZOH
BE SRR SO & E T,

4. MO —EIZIE, & -y MERTBOHR
DR B T3, THLOBILI TR ZE
W, FERE BRSO 0ERL TR >
MRFED DX E SE W2 & FT,

KEBITWRFICLY FERSBIR - MEEZLE
TLHLZEBRHYET,

FEER A S A IERT A 2 B E O SRO S TEE W,
ML BT D £9 & MO
PEREISZ BT 2580 H 0 £,

Z DR OAE AR SR OAAGEERR GFI) 13, B
EFHUVR%9FETY, ZEL, fIGFERNTH-
Th., FERESIZ OW TR & & THR S E T
W GabH Y £,

FEET S DU IR RIBIZ 1T ERE O AR EEIR THE
TLETA, BHEFEREIER TH->Th, Mt
#5 D ZHFED B o TG BT K UMk 2o
TIMHRESETWEEEET,

REEIZDULNT

PR DO UGBTI DFR & 720 £4 DT, 1T
TLES W,

godE L7e G B Pl B SR~ S 72 IE LUTE
MBI E B2 D581E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



TMS1182-1582-1882-2082
Ka—/\

EECTI

e I R s B mi 4 i) A% T
1 | 0767003004 T 1
2 | 076701100M =% 1
3 | KMST020 TFrYrsavxxrv s 20 1
4 | 068168100M 777 v bk 1
5 |1214432004 Ko —/RC P 1
6 | Bz12030 ALk 8.8 M12X30 2
7 | WSA12 NEXPFHX 33a7 M1 2 2
8 |NUZ12 Urvyk 8 M12 2
9 | 160305000M vy 25 1
10 | PC050045 JUEL; 5X45 2
11 | JSEO70ASY NRy—YaAfF SE—70 1
12 | 060807100M Ty iy 2
13 | 162310000M Vo o7Fx—r 8X38PX40L 1
14 | 1623090000 YYw I, TS—1. 7t 1
15 | BZ12055 ALk 8. 8 M12X55 1
16 | NNF12 75 0FAnrFy h M1 2 1




TMS1182-1582-1882-2082

ARAUR
14347
AHES| B oM F B B w4 PR [EES fii =

ASY | 1496210004 AHRCP ;S 73 1| R1~3fF

1 |1496140004 AR R S 1

2 1496150024 ARA—/LCP 1

3 | 1496150044 AT S (DI B4 X501 1

4 | BZ12030 AR 8.8 M12X30 4

5 |WSA12 NxYPHx 337 M1 2 4

6 |[NZ12 Fvh 8 2v2 M12 4




TMS1192-1592-1892-2092
Ka—/\

AHES| B oM F B B m 4 i) [EES fii
1 | 1488791004 2P71L—ACP 1
2 | ONBS1 JV—2A=v7) B PT1,/8 1
3 8030162004 V¥ 7 hCP 1
4 | PC040032 JYELY 4X32 1
5 | 1301931004 nu—Yyor 775y k 2
6 | 121517000M =% 2
7 | PC063045 JUELY 6. 3X45 4
8 | ONA6 TV =A==y A M6 2
9 | 000006200M nuy—Yr 7y ; 0, 1 2 | K10, 11£7F
10 | NAA22150 JFvh 4 1¥2 M22X1. 50 2
11 | Ws22 NEPFHEX 237 M2 2 2
12 10008230000 PICH/ R —; 1 2
13 | 0860030002 PICYx¥ 7 b 1
14 | J6007LLU R—=n_71J>7 6007LLU 2
15 | DHCO62 CHHX AU T+ 62 1
16 | JSE040ASY NRy—YaAfF SE—40 1
17 | 1488780004 2P Ra—nRCP 1
18 | BZ12030 ALk 8.8 M12X30 2
19 | WSA12 NEYPHF 337 M1 2 2
20 [NUZ12 Urvyh 8 M12 2
21 | 160305000M vy 25 1
22 | PC050045 JUEL; 5X45 2
23 10939160000 Xy AKX ;150 1
24 | 1379370004 AHRCP 1
25 | BSZ10025 aBFHRLE 7T M10X25 4

-3-




TMS1192-1592-1892-2092
Ka—/\

AHEE| & M & & B i A i % fifi
26 | WSAL0 NxYPHx 337 M1O 4
27 | NSZ10 affFZFyh 8 232 M1O 4
28 | 077934200M V% 1
29 | 000738000M JoFEY ;6 1
30 | CAP050050 X¥yv7” 50X50x%X2. 3 1
31 | 0000963000 PICxvv7; 35 2
32 | JSE0O50ASY NU—Va4kr SE—50 1
33 | J30206 F—Run—I 7Y 7 30206 2
34 1092980000M |HTF—; $30X24 1
35 | WRA24 eIV TR M2 4 1
36 | 000712000M ¥y v ALy ;M24X1. 5 1
37 | 085996000M | L — k 2
38 | 044098500M Ty ;10 4
39 | 060807100M Ty 2
40 | 162310000M Vo /7 Frx—r 8X38PX40L 1
41 | 1623090000 Y TS—1. 7t 1
42 | BZ12055 ALK 8. 8 M12X55 1
43 | NNF12 77074 urFy b M1 2 1




TMS1182-1192-1582+-1592-1882-1892-2082-2092

JL—L

TMS1182,1192

120

TMS2082,2092

e I R s B mi 4 i) A% T =

1378871003 J1L—ALACP ;1100 1 | TMS1182,1192

1 1380501003 7L —ALCP ;1500 1 TMS1582, 1592
1380531003 7L —ACP ;1800 1| TMS1882, 1892, 2082, 2092

3 BZ12025 ALE 8. 8 M12X25 8 | TMS1182, 1192, 1582, 1592
BZ12025 ALk 8.8 M12X25 12 | TMS1882, 1892, 2082, 2092

A WSA12 NEXPFHx 337 M1 2 8 | TMS1182,1192, 1582, 1592
WSA12 NEXFHX 33a7 M1 2 12 | TMS1882, 1892, 2082, 2092

5 NZ12 Fvh 8 2v= M12 8 | TMS1182,1192, 1582, 1592
NZ12 Fvh 8 2va M12 12 | TNS1882, 1892, 2082, 2092
1380620000 a2HAHX ;1835 8 | TMS1182,1192

6 1380630000 aHAHX ;2335 8 | TMS1582, 1592
1380640000 aHAH ;2835 8 | TMS1882, 1892, 2082, 2092
TMB06035 HI7Ex Ry B—1 6X35 32 | TMS1182,1192

10 | TMB06035 HIHX v RrY B—1 6X35 40 | TMS1582, 1592
TMB06035 I RY B—1 6X35 48 | TMS1882, 1892, 2082, 2092
1500010000 A KAR—F;1100 2 | TMS1182,1192

11 | 1499990000 A FKAR—F; 1500 2 | TMS1582, 1592
1499750000 A KAR—F; 1800 2 | TMS1882, 1892, 2082, 2092
121547100M Fa 4 | TMS1182,1192

12 o TMS1582, 1592, 1882, 1892,
121547100M Fa N 6 2082, 2092
059911200M B XA ;M1 0X58 14 | TMS1182,1192

13 e TMS1582, 1592, 1882, 1892,
059911200M T FXHBRNE ;M1 0OX58 20 2082, 2092

14 084777100M 17— ;16. 1X56 8




TMS1182-1192-1582+-1592-1882-1892-2082-2092

JL—L4
AHER| B oM & B il i A i [EES fii =

15 | BR10075 B X<NLB 4. 6 Al M10X75 4
WSA10 NEYPHTx 337 M1O0 18 | TMS1182,1192

16 RS SN N TMS1582, 1592, 1882, 1892,
WSA10 NEPHF 347 M1 0 24 2082, 2092
NSZ10 affHZ b 8 2v= M1O 18 | TMS1182,1192

1T I\sz10 aHEFy b 8 292 MI10 24 TMS;‘Z% by 189

18 | 1380760000 AT — A 2

19 | 1380770000 27— B 2

20 |102609100M | 7L — K 4
BSZ10025 afHAHRLE 7T M10X25 12 | TMS1182,1192

21 e TMS1582, 1592, 1882, 1892
BSZ10025 aBAZRLE 7T M10X25 16 00822092

22 | BR10085 HIX<LB 4. 6 Al M10X85 4

23 | 000450000M | HZ FA/LEF 8. 8 M10X20 4
WSA10 NREXPHx 337 M10 20 | TMS1182, 1192

24 TN N TMS1582, 1592, 1882, 1892,
WSA10 NEAYHx 39a7 M1O0 24 | M 2082, 2092
NSZ10 affFZ b 8 2v= M1O0 20 | TMS1182,1192

25 |xs710 aHZFyh 8 232 M10 24 TMS;?;; o 1852 1595

26 | 067426100M 7Z v b 4

27 | BZ12030 ALK 8.8 M12xX30 4

28 | WRA12 AR M1 2 4

29 | NNF12 770V A4uarFy b M1 2 4

30 | 1386690004 J1x—C P 1 | TMS1182,1192

31 |BSZ10025 aBFHRLE 7T M10X25 2 | TMS1182,1192

32 [ WSA10 NEPFH%X 3327 M10 2 | TMS1182, 1192

33 |NSZ10 afXZFyh 8 2va M1O 2 | TMS1182,1192

34 | 1382500000 HA KR 1

35 | SM08035 —HT7axy M8X35 4

36 | 044097200M Ty 8 4

37 | WSA08 NEHPHx 337 MS 4

38 | NSZ08 aBHxrFvyh 8 2va MS8 4

40 | 0927082000 Tuay hHA— 1

41 | NRR10K Fv rUTFT—F M10O 4

42 | BSZ10020 afHZRNLE T M10X20 4

43 | WSA10 NEYPHF 337 M1O 4

44 | WRALO 7 HFR M10 4

45 | 1381931003 A=V H—FKCP 1

46 | BSZ10030 afFHZRNLE 7T M10X30 2

47 | WSA10 NxYPHx 337 M1O0 2

48 | WRAL0 7 HF M10 2

49 | 122092000M =% 2

50 | 063467000M Ty 12, 5X3. 2 4

51 [ WSA12 NEXPFHX 33a7 M1 2 2

52 | NZ12 JFvhk 8 2v=2 M12 2

53 | 1220930000 71—k 2

54 | 1382440000 7y hAR— K 1

55 | 000450000 |7 FA/LEF 8. 8 M10X20 6

-6-




TMS1182-1192-1582+-1592-1882-1892-2082-2092

JL—L

TMS2082,2092
A& s 5 B i 4 i) % T =
56 | WSAL0 NREPHF 337 M10 6
57 |NSZ10 affAZFyh 8 2¥=2 M10 6
58 | 0927110004 HAR—HKCP 1
59 | BSZ10020 aFAZRLE 7 M10X20 2
60 | WSA10 NEXPFHX 33d7 M1O0 2
61 |1214310000 Z7ny b7 L—Fh 1
62 | CP08025 +F_Raxy M8X25 5
63 | NSPOS afXATV Ty s 4 M8 5
64 |102933100M | %A KR—F7 7 4
65 | 102317000M Ly 8X20 4
66 | DE006 ENZ NAD 6 4
67 | 1382450000 H3—; RE 1
68 |BZ12025 ALk 8.8 M12X25 4
69 | WSA12 NEYPHF 337 M1 2 4
70 | 1603280003 F ¥ LRIV 1
71 | BSZ10025 afARLE 7T M10O0X25 8
72 | WSAL0 NREPHF 337 M1O 8
73 |NSZ10 affEZFyh 8 2¥=2 M1O0 8
74 | BZ12030 ALk 8.8 M12X30 4
75 | Nz12 JFvhk 8 2v=2 M12 2
76 | WSA12 NEXPFHX 33a7 M1 2 4
80 | 1386090000 7T AV 2 | TMS2082, 2092
81 | 138665000M |31 7 8 | TMS2082, 2092
82 | 1386710000 777 v bk 4 | TMS2082, 2092




TMS1182-1192-1582+-1592-1882-1892-2082-2092

JL—LA
AHER| B oM F B il mi 4 i) [EES fii =

83 | BSZ10100 aHERNLE 7T M10X100 8 | TMS2082, 2092

84 |NSZ10 afLZFvy b 8 2v= M1O0 8 | TMS2082, 2092

85 | WSAL0 NEPHF 337 M10 8 | TMS2082, 2092

86 | WRAL0 E AR M10 16 | TMS2082, 2092
138127000M NAZ7CP;1100L 1 | TMS1182,1192

90 | 138090000M NAZ7CP ;1500L 1 | TMS1582, 1592
138124000M NAZ7CP ;1800L 1 | TMS1882, 1892, 2082, 2092
138128000M NATZ7CP ;1100R 1 | TMS1182,1192

91 | 138097000M NAZ7CP ; 1500R 1 | TMS1582, 1592
138125000M NAZ7CP ; 1800R 1 | TMS1882, 1892, 2082, 2092
1381880000 v—hCP ;1100 2 | TMS1182,1192

92 | 1381890000 v—hCP ;1500 2 | TMS1582, 1592
1381900000 —hKCP ;1800 2 | TMS1882, 1892, 2082, 2092

93 0007220000 =% ;12 2
ILT200 frovavaw A 4. TX202 36 | TMS1182,1192

94 | ILT200 a7 X4 4. 7TX202 44 | TMS1582, 1592
1LT200 a4 4 4. 7TX202 52 | TMS1882, 1892, 2082, 2092
122115000M Fa gy 4 | TMS1182,1192

95 o TMS1582, 1592, 1882, 1892,
122115000M Fa gy 6 2082, 2092

96 | 000738000M JoFEL ;6 2

100 | 0009341000 NV FY—60CIT (SHy FM5FH 2 | TFE1880

101 | 0009600000 NV R W—60CT (SHy FM5FH 2

110 | 1579790000 TGV XA T TFTY 280 1 | TMS2082, 2092

111 | 1061641000 VA N =/ | 1

112 | 0889851000 VA Y NA=4 1

113 | 0927741000 FZYL s MU TV A T 204 1

114 | 1339070000 AB == Tl 40 (R FR) 1

115 | 1602890000 T AT A7 (STAR) 2
1218580000 7~L; 1100 2 | TMS1182,1192

117 1233870000 Z~)L:; 1500 2 | TMS1582, 1592
1233880000 L ; 1800 2 | TMS1882, 1892
1223180000 ;2000 2 | TMS2082, 2092
1500020000 T 1100 2 | TMS1182, 1192

118 | 1500000000 TN 1500 2 | TMS1582, 1592
1499760000 T 1800 2 | TMS1882, 1892, 2082, 2092
1386730003 vy—hKCP ;1100 1 | TMS1182,1192

119 | 1214782003 v—RKCP ;1500 1 | TMS1582, 1592
1214842003 —hkCP ;1800 1 | TMS1882, 1892, 2082, 2092

120 | 160320000M R—=A T 1

121 | 160321000M T ¥ R 1

122 | BSZ08020 aBFHZRLE T M8X20 2

123 | WSAO8 NREYPHFR 337 MS 2

124 | WRA10 E AR M10 1

125 | PC032016 JUEBEL ;3. 2X16 1

126 | 1511830000 TPV s A a7 270 1

127 | 1623480000 aa Y N s VA 1




TMS1182-1192-1582-1592-1882-1892-2082-2092
VAL B e AVAN)

12475-8

AHER| W M’ B B Hi 4 i % T =

0003791000 4% ;10,/,80—-—12—6PR 2 | TMS1182, 1192, 1582, 1592

1 0003841000 4% ;11L—15—8PR 2 | TMS1882, 1892
0003820000 4% ;12. 53L—15—8PR 2 | TMS2082, 2092
0003860000 F2—7;10,/,80—12 2 | TMS1182, 1192, 1582, 1592

2 0003890000 Fa2—7;11L—15 2 TMS1882, 1892
0003880000 Fa2—7:12. 5L—15 2 | TMS2082, 2092

5 000854000C HA—I) ;7. 00X12 2 TMS1182, 1192, 1582, 1592
102973000F A= ;10]X15 2 | TMS1882, 1892, 2082, 2092

q ZP61L5IA004 |7 ; 6 2X 80 2 | TMS1182, 1192, 1582, 1592
ZP61L6JA003 | /N7 ; 6 2 X 85 2 | TMS1882, 1892, 2082, 2092

- 730208 F—RXua—5X_7IJL7 30208 2 | TMS1182, 1192, 1582, 1592
J30209 T—ua—7X_X7Y 7 302009 2 | TMS1882, 1892, 2082, 2092

6 J30206 T—ug—IX_X7 U7 30206 2

; 7P5410801 V=T vy ; 40X 80 2 | TMS1182, 1192, 1582, 1592
7P5410851 V=T vy ; 45X 85 2 | TMS1882, 1892, 2082, 2092

9 ZP9RDF27E FyrvALFy b M27X1. 5 (DY YR) 2

11 | 7ZP56106203 Xyrv7 ;62 2

19 ZP57116B1 ALk M16X1. 50 10 | TMS1182, 1192, 1582, 1592
ZP57118B1 ALk M18X1. 50 12 | TMS1882, 1892, 2082, 2092

13 159222000M BRA—/F v ; M16X1. 5 10 | TMS1182, 1192, 1582, 1592
159922000M A —F v F; M18X1. 5 12 | TMS1882, 1892, 2082, 2092




TMS1182-1192-1582-1592-1882-1892-2082-2092
VAL B e AVAN)

A& 5o 5 B i 4 i) % T =

i 1599240003 INTIXRT Y7 CP 1 | TMS1182,1192, 1582, 1592
1599230003 INTIH Y7 CP 1 | TMS1882, 1892, 2082, 2092

17 | BZ16035 ALk 8.8 M16X35 4

18 | WSA16 NEYPFHF 397 M16 4

19 [NZ16 Fvhk 8 2= M16 4

21 ZP98608A2 T —RA=y )L 2

ASY | 0008561000 ¥L4¥YAS;10/,80—-12—6PR 2 | TMS1182, 1192, 1582, 1592

ASY | 0008621000 A4 ¥YAS;11L—15—8PR 2 | TMS1882, 1892

ASY | 0008630000 A ¥YAS;12. 5L—15—8PR 2 | TMS2082, 2092

-10 -




TMS1182-1192-1582+-1592-1882-1892-2082-2092

PIC>¥ 7 k

[13187-4]

[13187-4

AES| B M & S i i 4 PR &% fisi =

1 0927540002 PICY¥7Fh 1

2 0927550003 TaAfrh 1

3 0008230000 PICHNN—; 1 1

4 PS100050W ATy X7dy 10X50 2

5 PS060050W ATV T XTIy 6X50 2

6 0000963000 PIC¥x>~”; 35 1

7 0927562003 AX); P1IC 1

8 JCS206LLU =y hdyRXTYSZ CS206LLU 1

9 BSZ10030 aBFHRLE 7T M10X30 2

10 | NSZ10 affiZ4Fyh 8 2v=2 M1O0O 2

11 | WSAL0 NEXYPTH 3F7 M1O 2

0927040003 ¥ 7 b 1 | TMS1182, 1192
14 10927050003 M 1 | TMS1582, 1592
0927060003 D@ 1 | TMS1882, 1892, 2082, 2092

15 1214330000 DA 1

16 | BSZ08035 aFHARNLE T M8X35 2

17 | WSAO8 NREXP A 337 MS 2

18 | 044097200M Uiy ;8 4

19 | NSZ08 aBx bk 8 2v= MS 2

20 0446912000 V¥ —R/NL Kk ;M8 X3 2 3 T

21 | WSA08 NREYPHF 337 MS 3 | Pl

22 | NSO8 Jvbh 8 2= MS 3 T

23 141722000M DA -

-11 -




TMS1182-1192-1582+-1592-1882-1892-2082-2092

FYHRyI X

AES| 5’ 5 w4 i &%k fii
1 10927280003 YRy 7 A 1
2 11215300003 | FL—k 1
3 | BSZ08020 afHERLE T M8X20 4
4 | WSA08 NEYPHx 337 MS 4
5 0007170000 |F=a—=tr ;23 1
6 | 1215320000 DN -
8 | 1215280002 Y, 9T 1
9 0927310002 X¥Y¥:40T 1
10 0927320002 X ;14T 1
11 | 0870310002 ¥ ;18T 1
121092733100 | ¥ a A+ k 1
13 | J6009LLU R—=L_7Y 27 6009LLU 1
14 | J6206LLU R—=L_T7Y 7 6206LLU 4
16 | J6005LLU R—=N_X7V>7;6005LLU 2
18 | 0927340002 v 7k R 1
19 | 1382470002 v 7 h; L 1
20 0927361003 | /34 1
21 0927371003 | /347 1
22 | 0599861000 A $30. 5X0. 1 -
23 | 0599871000 A5 $30. 5X0. 2 -
24 | DHC062 CHEFAT TF 62 5
25 | DHCOA7 CHAZMAT TF 47 2

-12-




TMS1182-1192-1582+-1592-1882-1892-2082-2092

FYHRyI X

A& s 5 B mi 4 i) % T =
26 | DC025 CHHA AU Y7 25 1
27 1 043114000M =T (1) 1
28 | 060807100M A 1
30 | 0927380002 HT7—;30. 5X21 1
31 0927390002 HI—;25. 5X70. 8 1
32 | 0848070003 U 1
33 | BZ12035 ALk 8.8 M12X35 2
34 | 092740000M HT7—;30. 5X17 1
35 | 1398271003 A7al sy h; 60X19T 1
36 | 1398260003 ¥ —R RARAE 1
37 | NzZ12 Fvh 8 2v2 M12 2
38 | WSA12 NAYPHx 337 M1 2 2
39 | 70B-4020 RIA Ay R T w2 40X44X20 1
40 | DC0O40 CHEZ AT 7 40 1
41 | 138084000M Jyvy ; 41X2. 3 1
42 | 0446912000 Yy —AHRN bk ;M8 X3 2 1 | TlE MRS 3fE
43 |NZ08 Fvh 8 23¥2 MS8 1| Pl HRRTS 3R
44 | WSA08 NEYPAHx 397 M8 1| Pl HEfAT 3
45 | 056984000M VN wA 1

-13-




TMS1182-1192-1582+-1592-1882-1892-2082-2092

Y,

AHES| B oM F B B m 4 i) [EES fii
1 |0995541003 FF v hARAN; 72T 1
2 0848130006 J T 2
3 | 084814100M AT T 2
4 | 121533100M 7 — A 1
5 |1215353003 )y FHARKCP 1
6 | 121543100M FL—k 1
7 | BSZ08025 af RV E 7T M8X25 2
8 | Nszos afXZFvyhk 8 232 MS 4
9 | 142331000M L CP 1
10 | 121536000M T — 1
11 | BZ12070 ALk 8.8 M12X70 1
12 | WSA12 NEYFHTR 337 M1 2 4
13 |NZ12 Fvh 8 2v=2 M12 5
14 | 084823000M AT T 1
15 | 092747100M 7y KCP 1
16 | 70B-3012 RIA Ay F T w2 30X34X12 2
17 | ONC6 JV)—2A=v )L C M6 1
18 | 092748300M RV 1
19 | ONAG JN)—A=v7)L A M6 1
20 |DEO15 EXZX AT 15 1
21 | 0848203003 9T T = 1
22 | BSZ10020 afFARLE 7T M10X20 1
23 | WSA10 NEXHFHX 337 M10 1
24 | 061737000M Tyl 11X3, 2 1
25 0927490003 I 1

-14 -




TMS1182-1192-1582+-1592-1882-1892-2082-2092

Y,

A& s 5 B i 4 i % T
26 | J6206LLU R—=N_T71J>7 6206LLU 1
27 | DHC062 CHHA AT T+ 62 2
28 | BZ12035 ALk 8.8 M12X35 2
29 | DC0O30 CHHA AU ¥ 30 1
31 | KFB10080500 |~A 2w F%— HH~</)L 10X8X50 1
32 | PC063056 Uy 6. 3X56 1
33 | 121542000M F ¥ R 1
34 | BZ12045 ALk 8. 8 M12X45 1
35 | NNF12 75V uarFy b M1 2 1
36 | CP08016 +F_axy M8X16 1
37 | 121541000M L A—CP 1
38 | NNF10 75 FAmrFyh M10 1
39 | 0007220000 =X ;12 1
40 | 1215400000 HA K 1
41 | BSZ08020 afAZRLE 7T M8X20 2
42 | WSAO8 NEYPHx 337 MS 2
43 | 044097200M Tvix ;8 2
44 0927530003 g IN— 1
45 | 1181490000 =Y M8 2
46 | ONB6 J)—A=v 7L B M6 2
47 10929950000 FGAYL N 1
48 | 1062410000 T b4 a7 19 1
49 | WRAOS 7R M8 1
50 | 093731300M HT—; $p42. TX8 1

-15-




TMS1182-1192-1582+-1592-1882-1892-2082-2092
kD

AHES| & & F & gl i 4 giiN 8% fir =
51 | 142330000M 7 — A 1
52 | BSZ08016 afEZHRNLE 7T M8X16 1
53 | WSAO8 NREXYPHx 337 MS 1

-16 -




TMS1182-1192-1582+-1592-1882-1892-2082-2092

AU TRYFYINFI—

AES| B M & S i i 4 PR &% fii =

1 121544000M XYy 7 b 1

2 138085000M 17— ;35. 7TX50 2

3 0848342003 A7wvsr v b 5T 2

4 ONB6 TV —RA=v7/L B M6 2

5 060036100M ALk S45C Brxy 2

6 026970100M Uiy ; 14 2

7 057045200M ATV T H 2

8 068367000M A el 2

9 CAP028616 Fyrv7 28. 6X1. 6 2

10 138086000M o< 2

11 1380820002 = R A 1

12 KFC10080500 ~MayXx— JYzary<w)l 10X8X50 2

13 0848433003 A7vlry b, 5T 2

14 | TRK08012 6 hAFXY 10. 9 ZHRI M8X12 4

15 1380830003 A% 2

16 | JUC207D1 =y hIUXRTY T UC207D1 2

17 | ONB6 JIV—RA=v7/ B M6 2

18 | BSZ10025 afFHRLE T M10O0X25 4

19 | WSA10 NREYPH3 337 M10 4

20 138087100M J17—;35. 7TX49 2
138248000M a2 _XyN—CP ;1212 11 | TMS1182.1192

21 | 138248000M a2 Xy N—CP ;1212 14 | TMS1582, 1592
138248000M a2 _XyN—CP ;1212 16 | TMS1882, 1892, 2082, 2092
000467000M THEYT XTI NTF2—2 ;6000 110 | TMS1182.1192

22 000467000M FHYFYy I NFz—2 ;6000 134 | T™™MS1582, 1592
000467000M FHRYF¥ITINLFz—2r:6000 160 | TMS1882, 1892, 2082, 2092

-17 -




TMS1182-1192-1582-1592-1882+-1892-2082-2092
Ty RA—F

TMS11,15 TMS18,20
e I R s B mi 4 i) A% T =

1 | 1603150000 H— K 2

2 | 160316000M 777 v kL 1

3 | 160317000M 777 v h ;R 1

4 | 160318000M 7L —k 2

5 | BSZ10025 aBFERLE 7 M10X25 6

6 | WSALO NEXPFHX 337 M1O0 6

7 |NSZ10 aBFHFv bk 8 2v=2 M1O0 6

8 | BSZ08025 aFHRLE 7T M8X25 6

9 | NNFO8 75 0FAurFy b M8 6

-18 -



TMS1182-1192-1582+-1592-1882-1892-2082-2092

VR

19 (AMN1861)

A& 5o 5 B mi 4 i) % T =
1 | 1600540000 VY7o 2
2 | CP04025 +FRaxy M4xX25 4
3 | NNFo4 7oAy b M4 4
4 0009341000 N X Y—60CT (STy FM5 ) 2
5 10009301000 NV xF R—150TR (ST v RM5AH) 2
6 | 160311000M 777 v bk L 1
7 1160312000M 777 v bk R 1
8 | 055474000M B FRLE 8. 8 M8X20 4
9 | NSPO8 afXATV Ty s 4 M8 4
10 | 1600550000 RNy 0F 1
11 | CP04025 +F_Raxry M4x25 2
12 | NNF04 7504 arF vy b M4 2
13 | 160313000M AT — 1
14 | BSZ08016 af AR 7 MS8X16 2 | AWB1821, ADW1821
15 | 044097200M Ty ;8 2 | AWB1821, ADW1821
16 | WSA08 NEHFHAX 337 MS 2 | AWB1821, ADW1821
17 | BSZ08020 afHERLE 7T M8X20 2 | AMN1861
18 | NSP0O8 aABEATYV Ty s 4 M8 2 | AMN1861
19 | 1603681000 RKyvaro4r; 2PG 2
20 | CP03016 +FRaxy M3X16 4
21 | WRAO3 v 7R M3 4
22 | NNO3 FAuertv b M3 4
23 | 160835000M 77 v b L 1
24 | 160836000M 777wk R 1
25 | 055474000M BT FRLE 8. 8 M8X20 4

-19-




TMS1182-1192-1582+-1592-1882-1892-2082-2092
VR

19 (AMN1861)
A& 5o 5 B mi 4 i) % T =
26 | NSPO8 AFEATY T Ty N 4 M8 4
27 | 1603190000 a—F;5650X2400 1
28 | 1603140000 a—F;80Xx3800xX1100 1
0 ILT150 Afany XA 3. 5X152 9 | AWB1821, ADW1821
ILT150 Afany XA 3. 5X152 18 | AMN1861
30 | 1604031000 NN A 1 | A7 vav
31 | 1630370000 FaUuh o N—FXACP ; a7 Ky 1 | A7 av

-20-



SE

—40

INT—23A4 2k

AHES| B oM F B B m 4 i) [EES fii
ASY | JSE040ASY NRy—YaAfF SE—40 1
1 | JSE0401ASY YaAfr b AvFr73I SE—40 1
2 | JSE0402ASY vaArh TUuXrI SE—40 1
3 | JPYSE vy ®a—2s (SE) 2
4 | JSEASY ANRALHX 73 SE AS105 2
5 | JEYSEL T4 T 4 7a—r A2F (SE) 1
6 | JSE0401 NRAT A4>F SE—40 1
7 | JPC14ASY 77Ty 73 (14) 2
8 | JSE0403 TR N~ {2 SE—40 1
9 | PS100065 27Ty 10X65 2
10 | JEYSE2 T4 T4 7a—r TuH (SE) 1
11 | JSE0402 NRAT ToH SE—40 1
12 | JSE0404 TR IIN— TUHX SE—40 1

-21 -




SE

—50

INT—23A4 2k

AHES| B oM F B B m 4 i) [EES fii
ASY | JSE050ASY NRy—YaAfF SE—50 1
1 | JSE0501ASY YaAfrbh AvFr73 SE—-50 1
2 | JSE0502ASY vaArh TuXrZI SE—50 1
3 | JPYSE vy ®a—2s (SE) 2
4 | JSEASY ANRALHX 73 SE AS105 2
5 | JEYSEL T4 T 4 7a—r A2F (SE) 1
6 | JSE0501 NRAT A4>F SE—50 1
7 | JPC14ASY 77Ty 73 (14) 2
8 | JSE0503 TR N~ {2 SE—-50 1
9 | PS100065 27Ty 10X65 2
10 | JEYSE2 T4 T4 7a—r TuH (SE) 1
11 | JSE0502 R4 TuH SE—50 1
12 | JSE0504 TR IIN— TUHX SE—50 1

-22-




SE

—70

INT—23A4 2k

AHES| B oM F B B m 4 i) [EES fii
ASY | JSE070ASY NRy—YaAfF SE—70 1
1 | JSEO701ASY YaAfr b AvFrI SE—-70 1
2 | JSE0702ASY vaArhk Tl SE—T70 1
3 | JPYSE vy ®a—2s (SE) 2
4 | JSEASY ANRALHX 73 SE AS105 2
5 | JEYSEL T4 T 4 7a—r A2F (SE) 1
6 | JSE0701 NRAT A4>F SE—70 1
7 | JPC14ASY 77Ty 73 (14) 2
8 | JSE0703 TR N~ {2 SE—-70 1
9 | PS100065 27Ty 10X65 2
10 | JEYSE2 T4 T4 7a—r TuH (SE) 1
11 | JSE0702 NRAT ToH SE—70 1
12 | JSE0704 TR IIN— TUuHX SE—70 1

-23-







nj
TH]

g

S—250722H

F & A # 0668555 F m 1 L K # 1 0 6 1 F ih 2
TEL 0123-26-1123
FAX 0123-26-2412

F M E XM 066855 FmmLEEREH:H; 1 06 1 F M 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIEMEEMFLEHORY1191EFM44
TEL 0162-82-1932
FAX 0162-82-1696

BOIL B EPT 0802462 W LA 2 2% 1 THEH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

PIREEXR 086-1152 FEZMHZFRHILET 2 TH 16 &F 2
TEL 0153-72-2624
FAX 0153-73-2540

it & 2 ¥ Fp 028-3172 EFEEEHAEAHEILFME 1 11E120%ES3
TEL 0198-46-1311
FAX 0198-45-5999

& & EFRF 984-0032 EHEBEMAEATEMERFEFSTHE2 1 —1
TEL 022-353-6039
FAX 022-353-6040

vl B ¥ P 3230158 HF K B /bt R 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA R EPT 4850081 BHRB /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

B = Z¥EpPr 7000973 MLEBMLUMAEAXRTFEHF 704 —103
TEL 086-243-1147
FAX 086-243-1269

He A B % fr 8618030 REAEBEAMER/MILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

W E ERT 8851202 EREMBETESWMATERBE 1003 -2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3





